Ml 2ol &F AF &2 Al A
2010 & =0f & 2833
2A: Bt
B o200 MeAag
2210 FARA QA
5 212 B4 (S92
SN-H-B-8-2 Of A o8 & &0l Ak o HRZ2
z 39,756, 100 47.169.810|  A7.413,710
IS} 39,756,100 47.169,810|  A7,413,710
200 Hl9l4-¢l 9,716,000 29,314,810| 19,598,810
210 A AlQl 4l 190,000 220,000 A30,000
212 AB24Y 90,000 120,000 A30,000
212-08 JIEIALE 2 90,000 120,000 A30,000
S LAl 90,000
215 A4+nE24¢ 100,000 100,000 0
215-01 H4nEI 42 100,000 100,000 0
SINHLLD A+DE2 100,000
220 2 AIE NI 2|2l 9,526,000 29,094,810| 19,568,810
204 M2 4,500,000 5,000,000 A500,000
224-01 I ASLINHUS 4,500,000 5,000,000 A500,000
Ot+ZL MR 29 M3 4,500,000
207 23 5,000,000 24,068,810| 19,068,810
207-02 YPr=Era 5,000,000 24,068,810 19,068,810
OBt +H2IE 2N RL2(ENBARGS) 5,000,000
208 &4 26,000 26,000 0
208-03 DHEN2 26,000 26,000 0
Ost=THSIB e = 26,000
500 £x2 22,040, 100 17,855,000 4,185,100
510 2DEE2E 20,338,000 13,992,000 6,346,000
511 2DE X3S 20,338,000 13,992,000 6,346,000
511-01 2 D8 X3 20,338,000 13,992,000 6,346,000
OME 22Rt=HAAE &3 1,863,000
OUE Z2at=H2IAlL HX 2,271,000
O8= OtsataMelAlL AX 752,000
Ootst 2Rst=HUAE &3 700,000
OFZ Ot2ataH2IAlL &3 1,624,000
OZHIANE S| 8,700,000
O Z2slaHM2IAL A5tE &3 350,000
OFHBt=HMal® XA 0l Katat 517,000
OFGataHeI® XYM A28 2,798,000
Ot X KNASAIL SX KM Ol Kas 77,400
OBt X NASAL &% XL 248 185,600




SA: okt
& 500 Ex=
2 1 510 =0EXSS
g 511l RUBX3S (S X2
SN2 arol & 0 A oA HImE=El}
O&7 330Xl SESAH(ZHLBAIZEHR) 500,000
20 Al EHIEESS 1,702,100 3,863,000 22,160,900
521 Al - CHIEXS S 1,702,100 3,863,000 22,160,900
521-01 Al - ZHIEXESS 1,702,100 3,863,000 22,160,900
O4s s3ot+xlAE &R 223,600
Olls s3dt=XclAld &X 296,000
O&8= (Isot=XclAE & 122,500
Oetot S8otrXlAlE &R 46,000
OSX2AIE &R 989,000
O&R S3ot=XclAd L3tx £X 25,000
00 XIS OUXI=2l=+ 8,000,000 0 8,000,000
610 WXL = 8,000,000 0 8,000,000
613 N<EHEI=2 8,000,000 0 8,000,000
613-02 XISHEIISAl - = - FENS+L 8,000,000 0 8,000,000
Ozt=3Sot=HMelAlE DEXeANE £X 4,000,000
Olis=Sot==xclAlE €X 2,000,000
OdsSSotrXelAld £X 2,000,000




= O
N 2 0l & AF S E A A
2010EE 2 O0Ia LBHS|H GHDF ~ k4Tt
SA: Gt Dt
Hu: oaxaAg 2
Sol: OSCHE BHE A JtRD) (Etel:&e)
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
5t 1t 41,468,347 52,235,022 ~10,766,675
= 20,333,000
= 200,000
= 1,702, 100
Al 19,228,247
~H2lAE e 206,837 258, 123 ~51,286
OISCHE BEA JtR| 160,300 201,200 40,900
ZEsA A 160,300 201,200 140,900
201 Yer2oy| 11,900 28,200 16,300
01 At el 5,900 21,400 A 15,500
OB EAIIRI| B2 214 3002 * 4,00004 1,200
OFFAR BBEL WX UL T 2
20,0002 * 105 * 100424 2,000
OZEsx4 g2 450,0002 * 63 2,700
02 2Z2H| 6,000 6,800 £800
OZE3%4 MIIe3 100,008 * 128 1,200
OZ=3Ha &4 .5t4% 23
400,008 * 128 4,800
307 BI2t0IA 140,400 159,000 18,600
05 SIRteerz 140,400 159,000 18,600
OXYA BESIFA I2rRI2e 47,000
ONS2 BEIIFA BI2RI2e 43,572
OSXo ZE3EA BIZeetze 49,828
401 AlEHIL 2O 8,000 10,000 £2,000
01 A& 8,000 10,000 £2,000
OZBEsHF4 S 4| 1,000,0009 * 8JH 4 8,000
eaFelAg el 46,537 56,923 ~10,386
SH2INE U BSE Ha 22 46,537 56,923 A 10,386
101 @l24H] 22,037 21,273 764
04 JIZH2ERNSES 22,037 21,273 764
O2LBg® 29 oA| 22,037
-l 33,6002 * 19 * 2502 9,650
— 4013 9,650,0008 * 4/12 3,217
o =E R 38,6008 * 1% * 52 2,008
PG =R 33,6008 * 1% * 152 579
— Aol 2esy
38,6002 /8 * 1.5 * 50AI2¢ * 122 4,343
- Z Al 120,0008 * 1% » 122 1,440
S ] 50,0008 * 19 « 128 600
- Y EEIH| 10,0008 * 23] 200
201 Yer2oy| 10,700 14,250 13,550




S ST

ZE: Q&ML 22
o9l 24HelAlE 2el (el & 2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot HusZ
01 AtR2lt] 4,700 5,650 A950
OBSEHA SXA M 90,0002 * 108 A 900
OR4+2TAMN HEE 7Y
100,009 * 1022 1,000
OaHMeAL NESs S| 2,800
02 B2 6.000 8,600 A2,600
OBSEHASK RERS 2502 * 20,0002 5,000
O2uH20 |X 244l 1,000
202 Ot 2,400 2,400 0
01 =2UHoiHI 2,400 2,400 0
0242 YL o] 2,400
207 & RIHELHI 2,400 7,000 A4,600
02 F AN Y| 2,400 2,000 400
OFSXHASK HUTZIY RN
600,002 * 43| 2,400
402 DIZHXHE 0| 9,000 12,000 A3,000
01 QIARZBE 9,000 12,000 3,000
OgLHeltl H4+n23
1,50020 * 60,000 * 10% 9,000
FHOX T G4 HY) 3,985,918 1,439,827 2,546,091
f+Eoy 2w 248,880 137,827 111,053
A+ E 29 150,640 59,640 91,000
201 Y2 90,640 59,640 31,000
01 At 22lt] 19,000 19,800 A800
ORUAHIAILAEY 2% S|
150,008 * 128 1,800
OFIINHHR2BE 442
1,450,008 * 68 8,700
OIIGHAA+4E 4,000
OH+= &t L AlERT 22| 4,500
02 B2 71,640 39,840 31,800
OIN(HEY) ABE 250,000% * 122 3,000
O®I(DY) ABE 66,000
O¥gsld A8 10,0002 * 122 1,200
023 100,009 * 128 1,200
O s+ AEE 20,0009 * 122 240
401 Al&HIL 20| 60,000 0 60,000
01 Al&H] 60,000 0 60,000
OB+BIAL 24 2 DA 60,000
OISHAE 2 98,240 78, 187 20,053




S M ot==1t
g3 FHAEX L ot EH
Bl H=EEd 22

A BB O(B) - NEAY - BAS sy S RS2
Ol &
201 LBty 98,240 57,700 40,540
01 AFR 22| 19,000 12,500 6,500
OREHAIAE 29 Sy
150,000& * 12& 1,800
OFJIgtE 22l
1,450,000& * 63 8,700
Oth=& &H ¥ el tl 4,500
OHI|ItEBA == 4,000
02 22234l 79,240 45,200 34,040
OFI(MHL)Ar2 300,000& * 12& 3,600
O&I(L)ArE 73,000
Odssld AIEZ 100,000& = 12& 1,200
Odse=a 100,000& = 123 1,200
O4.ot=ERa 20,000& 128 240
o NP BaE H| 3,737,038 1,302,000 2,435,038
F=HEZNE AL (Bl == 569,992 302,000 267,992
401 A EHIZ S 569,992 302,000 267,992
01 Al&H| 567,992 300,000 267,992
OLAR =R SAHKR) 267,992
—5te AlEc| ot 70,222
—&DJ|0t et 29,290
-2¢s0= ot 62,370
—2& 17 ot 70,222
—-ots Hiz=Al& 29,707
-8 MIERA St==ti==Al4 6,181
ot=& HUIBAM 300,000
03 AIE=20HI 2,000 2,000 0
OA& S U 2,000
sE==X7 == 3,167,046 0 3,167,046
401 A &HIL 2048 3,167,046 0 3,167,046
01 Al&H| 2,752,478 0 2,752,478
Os8 &X+7 siE13A 134,968
Oz X7 gRAE71SA 2,617,510
02 2ell 410,950 0 410,950
Ofls X+ &RE723A Zaltl 410,950
03 Al 20| 3,618 0 3,618
Olls X+ eRE723A AR 3,618
ot=HMelAld AHE 31,942,408 45,119,621 A138,177,213
= 16,760,000
= 1,702,100
Al 13,480,308

w




SN
X{ ZH -
S Tt

&

HMelAld A4
2t0] ot=XclAlE ZX

SNBSS - MEAY - BES

OH
i

22

20
B
2

2t0l St==XcIAlE X

= H W

3,001,500
2,376,000
122,500
503,000

592,000

2,409,500

E= 0tSot=xX2lAld &X

= N W

1,145,500
752,000
122,500
271,000

592,000

553,500

401 AIEHIZL 20

= HnH

1,145,500
752,000
122,500
271,000

592,000

553,500

01 Al&HI

O8=30t2 st=HMelAld &XI(J13782H )

= HnH

1,145,500
1,145,500

752,000
122,500
271,000

542,000

603,500

=S0t= ot=XelAld &X

= W

—

,856,000

,624,000
232,000

—

1,856,000

401 AlEHIZ R0

= W

—_

,856,000

,624,000
232,000

—_

1,856,000

01 Al£Hl

OFZ Oisdt=HMelAld EXI(JS167Her)

03 A2 204HI

O=Z OtSct=HelAME X AR

=

= W

1,847,000
,847,000

,617,000
230,000

9,000
9,000

7,000
2,000

1,847,000

9,000

= N W

28,940,908
14,384,000

1,579,600
12,977,308

44,527,621

A~ 15,586,713

s SSot=XelAlE &X

= HnH

3,612,000
2,271,000

296,000
1,045,000

2,169,000

1,443,000

401 AlIEHIZ 208

= HnH

3,612,000
2,271,000

296,000
1,045,000

2,169,000

1,443,000

01 Al£Hl

Olls Bct=HMelAld EX(J13212242H)

o

3,312,000

3,312,000

2,061,000
251,000

1,869,000

1,443,000

N




SN
X{ ZH -
S Tt

&

b=t
St=XelAld A4
SteXMeld He

(o]

SN - H

- SHRI(BIAH) - NRALS -

HeS

OH

-/

20
B
2

02 2eldl

Olls B3ot=XcelAlE &X
o)

Zeldl (01321

=z HnH

1,000,000
300,000

300,000
210,000
45,000
45,000

300,000

a5 S3ot=x2AE EX

= H W

2,931,600
1,863,000
223,600
845,000

1,777,000

1,154,600

401 AIEHIZ 20U

= N W

2,931,600
1,863,000
223,600
845,000

1,777,000

1,154,600

01 Al£HI

02

==

|
tS S3ot=HelAld

O o
0> o

nx

ON4E ZBRo+H2IAE £X(I12239H0H )

Xl Zeldl

= N W

= HN W

2,631,600
2,631,600
1,653,000
178,600
800,000
300,000

300,000
210,000
45,000
45,000

1,477,000

300,000

1,154,600

R S3ot=xelAE 54

= W

5,500,000

500,000
5,000,000

14,968,810

29,468,810

401 AlEHIZ 208

5,500,000

500,000
5,000,000

14,968,810

A9,468,810

01 Al&HI

O
0
10
0H
08
_O'j
i

HMelAld &

ux
W

Zel
O&= E3ot=HclAd 54

SAH Zeldl

= W

4,682,000
4,682,000

500,000
4,182,000

818,000
818,000

14,368,810

600,000

29,686,810

218,000

el
i
21"_'

17,308

16,811

497

17,308

16,811

497

== 33,000& * 1% = 2502
= =g 33,000& * 1H * 52
=g 33,0003 » 1€ » 15

8,250,000 * 4/12

17,308
17,308
8,250
1,716
495
2,750

16,811

497




SA: Bt
Hu: slaHelAe AM
ool StaRRIE A (=5 R-ED

22
J2
=2
Rl
12
==
S
Ol
0

SN CR(EH) - NRAY - BES ]

N EERY:

33,0002 /8 * 1.5 » 18 = 25A|2t * 128 1,857
- =4l 120,000& = 198 « 128 1,440
—JHAIXI &bl 50,000& 128 600
- EEZ=0H| 100,000& = 23| 200

t=ot=Meld DEXMelAld &X 5,000,000 19,865,000 14,865,000

tolt

401 AIEHIZ 20 5,000,000 19,865,000 14,865,000

01 AlZHI 4,800,000 19,365,000 A14,565,000
Ost=ot=Held D= H™elAld X 4,800,000
02 2eldl 200,000 500,000 A.300,000
Ost=dt=Held DT MelAld 4x Zeltl 200,000

ool SSot=XlAlE EX 846,000 0 846,000
700,000
46,000
100,000

= H W

401 AIEHIZL 20 846,000 0 846,000
700,000
46,000
100,000

= N W

01 Al£HI 846,000 0 846,000
Ootot 23a6t=HMelAld AI&EHI(J1Z908H ) 846,000
700,000

46,000
100,000

= N W

3R B3ot=XMelAE LAgtx £X 468,000 0 468,000
350,000
25,000
93,000

= NN

401 AIEHIZ R0 468,000 0 468,000
350,000
25,000
93,000

= HnH

01 Al&HI 468,000 0 468,000
OXR s3ot=HMelAld Ax X (J]=236H
orel) 468,000
350,000
25,000
93,000

= Hn W

SoUHCIAIE &X 10,566,000 0 10,566,000
8,700,000
989,000
877,000

= MW

401 AIEHIZ 20 10,566,000 0 10,566,000
8,700,000
989,000
877,000

=z HnH




S BtaD
M St=HMelAld A4
ool BaHelE AN (el &
SN O (BH) - HIEA - B Lol Soe HlmE2
01 Al&HI 10,561,000 0 10,561,000
Olls S3ot=HMeld EHMAIE 73,000
= 60,000
[ 4,000
Al 9,000
O&ls S3ot==Held SUXMEAIE 165,500
2 136,000
& 9,000
Al 20,500
OMy ZIZot=HMeld EQHMlAL 101,500
= 83,000
& 6,000
Al 12,500
O&R S3ot=HMeldE SeIXelAld 4,048,500
= 3,395,000
= 244,000
Al 409,500
Odfel S3ot=xeld SXelAld 450,500
2 370,000
& 25,000
Al 55,500
O&ZE S3ot==xclE ZXelAlE 1,068,000
=2 816,000
& 126,000
Al 126,000
Oete S3ot=s=Held SAHelAld 121,000
= 99,000
& 7,000
Al 15,000
Ost= S3ot=HMeld EHAIE 4,391,500
= 3,625,000
& 560,000
Al 206,500
Ootet ESSot==xeld SUXelAIE 141,500
= 116,000
= 8,000
Al 17,500
03 AIE20HI 5,000 0 5,000
OSUMEIAIE X AMEFUH 5,000
e e s (ot+1t) 5,333,184 5,417,451 AB4,267
= 3,578,000
= 200,000
Al 1,555,184
SHANE 333,584 325,451 8,133
S BEESH JaES 333,584 325,451 8,133
309 BIIEZANMEZ 333,584 325,451 8,133
01 SIS ELEIHBLNEZ 333,584 325,451 8,133




S A ot==1t
HHM: HRES(5t=1)

Sl LRIt NI S (B9 @e
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
OXlot+ RA=PBAI X &
6000008 * 503 30,000
SR EEIEL] 303,584
SHNE 4,999,600 5,092,000 £92,400
=2 3,578,000
= 200,000
Al 1,221,600
NYGtaH2l S AL a2 4,736,600 4,997,000 260,400
= 3,315,000
= 200,000
Al 1,221,600
311 XY 201Xt & 739,000 1,000,000 ~261,000
= 517,000
= 200,000
Al 22,000
04 EAZSRYZO0IRA S 739,000 1,000,000 A261,000
O AT KT O Xtatat 739,000
= 517,000
= 200,000
Al 22,000
601 MY SHS e 3,997,600 3,997,000 600
= 2,798,000
Al 1,199,600
04 EAZENYZ A4S 3,997,600 3,997,000 600
ORYGH+HIT NS 2348 3,997,600
= 2,798,000
Al 1,199,600
St Xl MESAIE XY &8 263,000 95,000 168,000
= 263,000
311 XY B0IXta 8 77,400 95,000 A17,600
= 77,400
04 SLTLIYS0IXtAE 77,400 95,000 A17,600
OBt 24 X NHSAIE S XYM O K& et 77,400
= 77,400
601 XSS atat 185,600 0 185,600
= 185,600
04 ZAFLIYSAZHE 185,600 0 185,600
Ott+2fX MSAE 81 NS 282 &
& 185,600
= 185,600




